TILT =




LUMIX S5 RIG

(=53 7i5ER]

®"E FRER FRES
CECMO1 | 23 TA-T39-FCC
CECMO2 | LFie TA-QRTH
CECMO3 | NATO#iz4 TA-AHAG-L
CECMo4 | NATOR TA-NRA-18
CECMOS | 15mmimeRes TA-BSP2-15
CECMOG | 4% TA-CSR
CECM07 | AEFH TA-LWH
CECMO8 | PL-Li¢#Ewis ES-T19-15
CECM09 | E-Lisithsrts Ls-T19

CECM10 | FIHtRsHE TA-T18-QRBP4

CECM11 | & R TA-QRBP3

CECM12 | &t TA-T39-006-02

CECM13 | 4 EFHR TA-QRTH4
CECM14 | TYPE-Cgisk TA-T39-CC1
CECM15 | NATOREK#12#F TA-AHAG-L
CECM16 | SURBBREFH TA-LFH-57

CECMO6

o — —
i ‘ CECMM%»" R
@ECMOQ CECM10 % !
% [
cecMt1 | e

CECM15

CECM12

[o1]




[2ERH5R]

0 ® 00
BE —
@ HIVRIRIAE ! el B
@ smmsEEREED @
© s xMERRLIL
O mHED ® swsn
© /4253 Q@ /43
[TRENATOBEHENF A
1/4RRHBR O
HEn ® vz
[FTEEB AT S BRI @ ruEo
@ =aw=n [T LIRS MR
© Farmsn o @ emesn
(FTifite LTI AE T RS @ NATOBSR
@ /4IRS ([FEHOMIEE £ (AT L F iR/ MFHER]
. 174 RIBKO
@ s3/eEugg ® (FIES AR/ ERRE R
@ naoms @ mnEEELn
(T EFIR AN BN e
TS P —FRUIRTF
<LAn @ TveecunERRa (FTRARM T B0 IRE TR

[02]



[EERE]

BINTSSENET.

£

Z1ol!
=

BH—riRe, iR
RS REHNIRE.

—o¢

—_—

SRR TR AR
TIfEEE

B IR T R ERAY
SPUIRTF, T RBLED
FISTRRE.

[03]




(AT
e R

B EFRIRLBNE F IR HALREY

Bl

AR EFR e R RERAEE90°
58] S BRI
mErmsRnEm (L

AR

RS HEER

.

EREFR
(5]

IS HARTRE
EiRIT RERER
HTNS,

B EFRIRIBNEF IR HATRE)
1/ATERIF Senh F IR B R AR R ST AR,

H1SmmSHUERTLAL, AT
EVFSZRFHT RESIEMG.

[04]



2 EFIR
(8]
RERRRAEE, TEHIEFE
SR/, SUER. .

B LFRERES AN
Faask, SIEFMIBL, BISTARiRE.

TIRERT

[ 180" &A=t ]
hERE180°, MFiR

BT REIERE90°, ARk
FHEFIHL, THREHE.

[05]




[REFIR/ FIREEE

BERAEFR
XPEFHERIMEBLLT, 360" R
ZANATOTBESEI.

BANBREITFEFH
IDESES TN

2 8V. DCOUT1 O, SNEQEEER

SN R AEA HHE ERIR, BTAE,

[06]



[REARREFH/SH]

LU RARFARIR
EREO1/ABAIRSAL

St FFNatoiB 5k
AT, B
FiRLBANG

BABREFEFH
BIAISEALAEEE.

[07]



[ RAEAR /IR EE]

SR FIREEBAIAY 1

SIRIEITRIRLLEDR]
SeRkEEAC,

TIREESTRTBA
BIRE, ke

[08]




[FATFS5EHER]

[y A=ES -

eI IR

BB LEFR R EFIR

EvES PL-LEGIEIRT i
; & RSB R EE3
= &>

TA-T39-006-02 TA-T39-CC1-G
N
TA-BSRA-15 @ TA-T18-QRBP4

[09]




LUMIX S5 RIG

OVERVIEW
HS ERE RS

Full Camera Cage

CECMO2

CECMOt for Panasonic 6 TATag-FCC
Tiltaing Quick
CECMO2 TA-QRTH
Release Top Handle o
CECMos | Tiltaing Advanced Left Side | a_ara6.L CECM06
Handle Attachment Type IV
Tiltaing 18mm NATO TANRAS
cecwos Rail Attachment
CECMOS Tiliing 15mm LWS TA-BSP2-15
Baseplate Type Il
CECMoB Tiltaing Cold Shoe TACSR
Receiver Attachment
cecwor Tiltaing Left Side TALWH
Wooden Handle
PL Mount Lens Adapter
CECMo8 -T19-1
Supportfor Panasonicss__| =118
i E Mount Lens Adapter LsT1e .

Support for Panasonic S5

CECM10 | ARCA Quick Release Plate | TA-T18-QRBP4

cECMoO7 CECMO9 [
CECMT Manfrotto Quick TA-QRBP3
Release Plate

Quick Release Plate TA-T39-006-02

. Tiltaing Adjustable TAGRTHA B
USB-C Cabl crcmos
CECM14 -C Cable TAT39-CC1
Clamp Attachment ATsece CECM12
Tiltaing Advanced Left Side
CECMIS | Handie Attachment Type vi | TAAHASL
ckcmis | Titaing Left Side Advanced | o

Focus Handle

[10]



OVERVIEW

- @ camera body support

,,,,, @ 15mm rod holder mount

-~ @ Lens adapter support mounting screws TOP BOTTON

Wrist strap holder Cold shoe mount

1/4-20 screw holes 1/4"-20 screw holes

®
o s e 1 e s
Cold shoe mount

o installngmicrophone, adonal gt tc) © Gold shoe mount

Strap holder (for top handie)

ARRI standard rosette expansion port @ 1/4'-20 screw holes with locating points

(for installing adjustable top handle, extender arm, etc.) @ NATO rail

1/4"-20 screw holes with locating points {fortop handie, side handle, e}
(for HOMI clamp attachment.) 114720 screw holes
3/8°-16 screw holes with locating points (for Manitotto and ARCA plates)
NATO rail @) Tie down screw

(for top handle, side handie, etc.)

Magnetic flat head screwdriver
ST pm— L

© 660 00 O 60

RIGHT SIDE LEFT SIDE

1]



INSTALLING THE CAGE

ASSEMBLY

Place the Lumix S5 in the camera cage.

8 U

Insert the tie down screw

@ into the screw hole.

The screwdriver can be attached
under the camera cage through a
magnetic connection.

!

Tighten the screw with
the portable screwdriver.

112]



INSTALLING ROTATABLE TOP HANDLE

ASSEMBLY

Rotatable Top Handle
(OPTIONAL)

Press the release button
to adjust the handle's
direction.

Slide the top handle into the cold shoe
mount on top of the cage. Tighten the
tie down screw.

Slide the top handle into the cold shoe
mount on top of the cage. Tighten the
tie down screw.

(OPTIONAL)
Cold shoe with locking
screw for quick assembly.

DEMO

Press the release button and
turn the handle 90° to change
the operating direction.

The built-in 15mm rod holder
supports EVF bracket mount and
_ other accessories.

[13]



INSTALLING ADJUSTABLE TOP HANDLE

ASSEMBLY DEMO

Adjustable Top Handle
(OPTIONAL)

Press the release button and
turn the handle 180° to change
from a top handle to a side handle.

Press the release button to adjust the handle's
direction for your operating needs.

Press the release button and
turn the handle 90° to change
the operating direction.

Align the handle with the rosette on the
right side of the cage. Tighten the tie
down screw.

[14]



INSTALLING SIDE HANDLE & SIDE HANDLE ATTACHMENT

ASSEMBLY
Press the release

Align the M3 screw holes on the focus button to rotate the
handle 360°.

handle with the left side handle attachment.

Loosen the tie down on the left side handle attachment,
and slide the handle onto the NATO rail

Tighten the tie down screw to
complete the assembly.

The focus handle has USB-C 8v and DC 12v outputs. Please check
& and connect your Tilta is not ible for
any user errors.

[15]



INSTALLING WOODEN HANDLE & COLD SHOE MOUNT

Loosen the tie down
on the left side
handle attachment,
and slide the handle
onto the NATO rail.

Align the cold shoe mount with the
1/4"-20 screw hole.

Tighten the tie down screw to
complete the assembly.

[16]



INSTALLING QUICK RELEASE PLATE & BOTTOM PLATE

Align the 1/4"-20 screw holes on the bottom of the cage with the bottom plate.

ARCA Quick
Release Plate

Manfrotto Quick
Release Plate

Slide the bottom plate onto the
baseplate until the safety lock
bounces up, then tighten the
locking toggle

[17]




PANASONIC LUMIX DC-S5 ACCESSORY CHART

Full Cage

TA-T39-FCC

Adjustable Top Handle

TA-QRTH4

Advan

Cold Shoe Receiver Attachment

TA-LRH-57 @ TA-CSR

USB-C Cable Clamp Attachment

TA-T39-CC1-G

NATO Rail % Bottom Plate
TA-NRA-18 TA-T39-006-02

EF-Mount Lens Adapter Support

Single Rod Adapter
TA-T39-LAS2 TA-BSRA-15

[18]



TILT =

MEAR BRI AR B IRARMRE

FR T
FRARENEFRAMEHNNER TELREH
FERRIRMHSE, IYhe

TILT A1 2RYISARHEER AT MR

BAM4: tita.com.cn  www.tilta.com
hEE: SRR RIS e iR EBIR2 %
2EIRSHLL: 4006 1998 67

All copyrights belong to Tilta Technology Co. Ltd
Written permission is needed for any reproductions.

Tilta has the right to adjust product specification without notice.

All measurements are for reference only. Please see the actual products for more details.

TILTF7 are registered trademarks owned by Tilta Technology Co., Ltd.

Website: www. filfa.com
US Address: 2801 W Magnolia Blvd, Burbank, CA 91505
US Contact Number: +1(818)651-4991 XEMEARS

EEIZIE PN

=17



